
       

Ersatzteilliste     

       

       
   Motordaten: MWM                     Blatt: 1 

       

  Typ: 226 D   

       

Pos. Menge    Tafel    Fig.-Nr. Bezeichnung Teile-Nr. 

1 3     Ölfiltergehäuse    

2 2     Peilstab lang   

3 2     Peilstab kurz   

4 5     Leckölleitung 4Zyl.   

5 2     Leckölleitung 6Zyl.   

6 6     Brenstoffleizungen divers   

7 2     Anlasserkranz   

8 10     Schraube M14x130 8.8   

9 16     Kopf Schraube M14x120    

10 8     Kopf Schraube M14x120  12160537 

11 10     Scheibe 12165568 

12 1     Kühlwasserpumpe   

13 2     
Einspritzpumpen 
Gehäuse Teile 

14 24     Einlassventil 12165099 

15 24     Auslassventil  12159600 

16 6     Kolben 12160694 

17 24     Ventilführung  630503320034 

18 8     Schraube  M16x60 12.9 

19 25     Schraube M14x120 10.9 

20 15     Schraube M14x135 10.9 

21 1     kiste diverse Schrauben   

22 12     Plunger 12165078 

23 20     Stößelstangen   

24 13     Kipphebel kpl.   

25 18     Auslassventil    

26 22     Einlassventil   

 



       

Ersatzteilliste     

       

       
   Motordaten: MWM                     Blatt: 2 

       

  Typ: 226 D   

       

Pos. Menge    Tafel    Fig.-Nr. Bezeichnung Teile-Nr. 

27 60     Ventilkeile   

28 50     Ventilführung   

29 7     Kipphebel   

30 50     Einstellschrauben   

31 30     Scheiben   

32 10     Lagerbuchse 12164892 

33 5     Lagerbuchse 12165097 

34 3     Lagerbuchse 12164891 

35 10     Düseneinsatz 433270114 

36 20     Düseneinsatz                 DLL150S393 

37 6     Düseneinschrauber           2433370297-825 

38 4     Zyl.Kopfhaube 12158813 

39 15     WEDI 12152278 

40 8     WEDI 12188100 

41 4     Öldruckventil 2401043691 

42 8     Haubtlagerschalen 12164693 

43 1     Passlager 12164694 

44 4     Anlaufring 12160535 

45 15     Kopfdichtungssatz 56.670 

46 30     Dichtung Abgas   

47 8     Dichtung Abgassammler   

48 17     Kisten Diverse kleinTeile   

            

            

49 1     Euro Palette   

50 2     Aufsteckrahmen   

 


